Read the passage and choose the word that fits best in context.

Uluru, named Ayers Rock in 1873 after the Chief Secretary of South Australia, Sir Henry Ayers, is in the middle of Australia in the middle of (1) __________. The nearest modest sized city (Alice Springs) is nearly 500 kilometers (2)__________.

It is the world's second-largest monolith, a sacred site for the Aborigines and Australia's most (3) __________ natural landmark. The only way to truly (4) __________ the place is to visit it as no photograph can (5) __________ justice to the magnificence of the size and colours of the rock. It is most impressive (6)__________ sunset, when it is coloured a spectacular orange-red by the Sun’s rays.

Uluru is like an iceberg because only its summit is visible - the rest of it extends 
(7) __________ into the ground. It rises 348 meters above the desert plain and is 
(8) __________ than nine kilometers in circumference. About one (9) __________ ten visitors climb the rock, using an ancient trail but most people go on a walking 
(10) __________ with an Aboriginal guide who describes the local flora and fauna, bush foods and the Aboriginal Dreamtime stories of the area.

1. A nowhere		B anywhere		C somewhere		D everywhere	

2. A far			B away		C distance		D faraway

3. A established 	B famous		C notorious		D marked

4. A encounter		B experiment		C witness		D experience	

5. A do			B make		C give			D get		

6. A in			B on			C at			D for

7. A deep		B wide			C high			D long

8. A upper		B greater		C more		D over

9. A for			B out of		C on			D by

10. A travel		B trip			C tour			D journey
